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Subject: Mathematics
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· Please check that this question paper contains 5 printed pages.

· Code number given on the right hand side of the question paper should be written on the title page of the answer book by the candidate.

· Please check this question paper contains 14 questions.

· Please write down the Serial Number of the question before attempting it.
· 15 minutes time has been allotted to read this question paper. The question paper will be distributed at 9.00 a. m.  From 9.00 a.m. to 9. 15 a.m., the student will read the question paper only and will not write any answer on the answer sheet during this period.

MATHEMATICS

Topic: TEST (I & II) & Continuity and differentiability  

Time allowed : 90 minutes


Maximum Marks : 50 

General Instructions:

(i) All questions are compulsory.

(ii) The question paper consists of 14 questions divided into three sections A, B and C. Section A comprises of 4 questions of one mark each, Section B comprise of 7questions of four marks each and section C comprise of 3 questions of six marks each.

(iii) All questions in section A are to be answered in one word, one sentence or as per the exact requirement of the question.

(iv) There is no overall choice. However, internal choice has been provided in 2 questions of four marks each and 1 question of six marks each. You have to attempt only one of the alternatives in all such questions.

(v) Use of calculators is not permitted. You may ask for logarithmic tables, if required. 

Section A

1 For what value of k 
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  is skew symmetric.

2 Let 
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 a binary operation defined by 
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  then find 
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3 If 
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  find AB.
4 Give an example to show that the relation R in the set of natural number defined by 
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 is not transitive.

Section B
5 If 
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  prove that 
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OR

If 
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  show that 
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6 Show that the function 
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  defined by 
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  is one-one and onto functions. Also find the inverse of the function 
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7 Prove that by using properties of determinates 
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8 Find the values of a and b such that the function 
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 defined by 
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is continuous function at x = 4.
OR

If 
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  is a continuous function 
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  then find the value of a and b.
9 Discuss the continuity and differentiability of 
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  at x = 2.

10 If 
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  then show that 
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11 In a given function 
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  find the values of a and b.

   Section C

12 An amount of ` 600 crores is spent by the government in three schemes. Scheme A is for saving girl child from cruel parents who don’t want girl child and get the abortion before her birth. Scheme B is for saving of newlywed girls from death due to dowry. Scheme C is for planning for good health for senior citizens. Now, twice the amount on scheme C together with amount spent on scheme A and scheme B is ` 700 crores. And three times the amount spent on scheme A together with amount spent on scheme B and scheme C is ` 1200 crores. Find the amount spent on each scheme using matrices? What is the importance of saving girl child from cruel parents who don’t want girl child and get the abortion before her birth?
OR
Find the product of 
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  and use it to solve the system of equations 
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13 Consider 
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  given by 
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  is invertible with 
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14 If 
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  show that 
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Be Happy It’s Maths time now!
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